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full marks for the questions.

Fill in the blanks with most ‘appropriate
word /words : Sx1=5 -4

(a) According to the tradmonal approach
the scope of finance. funétxon is

restricted to

(b) According to the Modxgham aﬁd Mxller ' |
& theory, the total vralue of the ﬁrm is &
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ok

i

el .

'

(c) Fresh issue of shares is a remedlai‘
measure of pp i Sl T Wtahaamn.

- (d) Degrce of fmancxal Ieveragc - _________....,.s |




2.

i3

4.

Answer the following in one sen

pohcy

(a) What is retained earning ?
(p) What is the full form of SEE .
() What is operating leverage ?
(d) What is capitalisation ? _,'..',
() What is optimal capital strw:tum ?
Answer the following : T E : :
(a) State any two limitations of Fi
' Management.
; (b) Name four theories of Capltal
| (¢) What is preemptlve right Qf
SR shareholders ? :
(d) State any two causes af o' '
cap1tahsat10n & ;,‘_,:_3& 4 -
 (e) State any two determinants

1 L2



(c) Write a short note on the powers of
SEBL.

(d) What are the causes of Under-
capitalisation ?

(¢)/ From the following information of a
business, compute operating leverage
under the following two situations :

(i) if fixed cost is 28,000
(i) if fixed cost is 210,000

_Installed capacity 1200 units
-8 _13’::4;;,: Actual capacity used 800 units
SAJC??”;’L - “&~ Selling price p.u. 210
; Variable cost p.u. 38

4
\ @/A business concern is considering an
expenditure of ¥80,00,000 for
expansion. The following information is
available : :

Number of existing equity shares are %10,00,000

Market. value of existing share is %60

& Net earnings o A 390 lakhs
#You are required to compute the cost

« ¥ of existing equity share capital and also

/0 i A X /

o, 7" of new equity capital. Assume that new

“/,  shares will be issued at a price of 52

per share and the costs of new issue

will be ¥2 per share.
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S. Answer/Solve the following : (any five)
5%8=40

(cy What is the scope of finance function ?

(p) What are the factors that determine the
capital structure ?

(c) “Debentures occupy a very important
place in the financial plan”. Discuss
the statement and point out the
limitations of debt financing. 5+3

(d) Which is more harmful — over-
capitalisation or undercapitalisation ?
Discuss.

() What is financial leverage ? Discuss
/ the relationship between debt financing
and financial leverage.

()  How is cost of equity capital
ascertained ? Explain using formulae
and illustrations.

~

(g Explain Walter’s model of dividend
o decision. Explain any five factors
affecting dividend decision. 3+3
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for the questions.

Fill in the blanks with appropriate words :
Wb 1x5=5

(@) A fixed rate of ——— is payable on

debentures.
(b) Degree of operating leverage = ————

(c) It is better for a company to remam in
gear durmg the penod of

e et

depression.

(d) Issue of bonus share is a remedlal measure

for

- rate of return

(e) Costof capital is the
expected by its mvcstors

Contd.




(a)

(b)

(c)

(d)

(e)

3. An

1 ' (a)

(b)  State any two Causes, of ovét

State whether the following sta e m

false :

The issue of bonus shares
corresponding increase in the ;
of the company.

Increased use of debt %m; e
risk of equity shareholders.

Traditional approach con

function only to raising of fu
el AN

According to Walter 'S

decision affects the value 0?

Ownership securities . are
debentures.

swer the ‘following : (maxiiﬁ’f

What is tmance functron ? :

(c) How is capitalisation calculat

(d) ‘What is composxte levmge-
(e) ~Why is prcfcrred |

FIMN 4-3/G

of “Cost Theory Jis

security” ?



Answer the following : (any five) 4%x5=20)

(a) Write a short note on the importance of
capital-gearing and dividend pay-out ratio.
242=4

(by What is optimal capital structure ? Explain.
(¢) How is cost of retained earnings ascertained ?

(i) State four differences between shares and
debentures.

(e) Explain any two types of dividend policy.
2+2=4

@ A firm has sales of # 15,00,000, variable
costs of ¥ 8,00,000 and fixed costs of

7 5,00,000. It issues debentures of 7 8,00,000
carrying 10% rate of interest. Calculate

(a) Operating leverage and
(b) Financial leverage.

(¢) How does financial leverage help in
maximising the profits of a firm ?

5. Answer the following : (any five) 8x5=40

(a) *The consequences of over capitalisation are
far more serious than under capitalisation’.
Discuss.
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debentures 7 What are the ¢
. of debentures that can be iscns
joint stock company 2 Explain b .;,[
s
fc) What is reserve - 2 Explain the various
of reserves that can be maintaiy
company. ‘

What arc the functions of SEBI i

(d)
1 2
of issue of umua

What 1s the scope of financial ma '
What arg the functions of &

manager ?
/‘\ : 2 ‘-A
#\ Dell .td. has the following be
capital structure : 2

e
Equit}' capital (10 millioﬁ :
z 10 per share)

11"o Preference Capxtal
shares @ ¥ 100 per shar ~j_

Retained earnings
13-5% Debentures (5.
- dchentures @ I 100 pe

12% Term loans
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The next expected dividend per share is 7
1:50. The dividend per share is expected to
grow at the rate of 7%. The market price per
share is ¥ 20. Preference stock, redeemable
after 10 years is currently selling for # 75
per share. Debentures redeemable after
6 years are selling at ¥ 80 per debenture.
The tax rate applicable for the company is
50%. Calculate the weighted average cost

of capital using market value proportions. ]
-yt

J Mozilla Ltd. belongs to a risk class for
which the appropriate capitalisation rate is

10%. It currently has outstanding 50,000
~ shares selling at ¥ 100 each. The firm is
- contemplating the declaration of dividend of
| ¥ 6 per, share at the end of the current

financial year. The company expects to have '
a net income of ¥ 5,00.000 and has a proposal
for making new investments of ¥ 10,00,000.

Show that under MM hypothesis, the
payment of dividend does not affect the value
 of the firm,

)  Explain the theories of capital structure.
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The figures in the margin indica
_full marks for the questtom

1. Fill in the blanks with the most a DTO

words

\9}' Financial decisions are mamly -f take i

in respect of investment, finance and
diuwidend. decisions. G

bleid oo re?ers to the relation bet:
equity capltal and long-term &



O B
() A company is said to be over-capitals
of equity shares of the com ,

(s  Under dividend yicld mcthod,
equity share capital =

Jp} Dividends payout ratio =
Dividend Paid

2. State whether the fo]lowing ﬁ
True or False :

is known as flnanc»fai ope
leverage.

(b) Retained earnings do not mwohe
cost. ,.

(0 Ifa company pays h@l dtvldmdw

~ its earnings, it may result in i
of power/contml and
existing s

| 47 (4) FIMN 4-3/G



‘

3. Answer/Solve the following :

(d) The earning per share (EPS) is affecteq
by t‘;he degree of financia] leverage.

(e) Cost of capital is the maximum rate of
return expected by its investors,

5%2=10

(@) State any two features of debentures.

(b) State any two differences between

financial leverage and operating
leverage.

(c) What is overall cost of capital ?

(d) State two assumptions of MM approach
to dividend decision. '

 (e)y” Current assets are twice the current
~ labilities. You are required to calculate
current assets if working ca is

% 40,000.
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5.

47 (4) FIMN 4.3/G 4

4.

(@) Elaborate on the de

(b Explain any five types of

(¢ What is the procedure
of cost of equity Sha.re  »":

(d) State any five invesf
measures undertaken by S
(e) Explain any five
necessitate change in ii;_} ;

() Explain any two -v il
structure. _,; :_f. "
e

Answer/ Solve the followh&é

re ’
T Y

-;\!.
i
.

structure and the be:
capital structure.



(p) What 1is more harmful under-
capitalisation or over-capitalisation ?
Discuss. What are the remedies of over-
capitalisation ? 5+3

(c) (a) Explain the interpretation of
operating leverage with examples.

9/1\ company issues 10,000, 10%
preference shares at ¥ 100 each.

Cost of issue is ¥2 per share.
Calculate cost of preference capital
if these shares are issued at
() par (i) at a premium of 10%.
4+2+2

@ Do you feel that Walter's approach to
dividend decision is the best of all?
Why ? Also, write a short note on price

earnings ratio. 5+3

() What is the significance of cost of
capital? What are major problems
concerning determination of cost of
capital ? | 3+5
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Explain :

9 Nt Income Approach and

(i) Net Operating In .f', | hach
for the determination of valt

of the most important fifie
problems that face a decision-

today.

@/ABC Ltd. has a capital of ¥ 10 lakhs 1n
equity shares of ¥ 100 each. The shares

are currently quoted at par. The
company proposes declaration of a

dividend of ¥ 10 per share at the end
of the current financial year. The

capitalisation rate for the risk class to
which the company belongs 18 12%.
What will be the market price of the
share at the end of the year if —

() a dividend is declared’l,:

(i) a dividend is not d

i
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Assuming that the Company

dividend and hag net pr?)af{‘%
¥5,00,000 and makes NEW investments
of 10 lakhs during the period, how

many new shares must be issued ? Use
the MM Model. Qe s
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1. Fill in the blanks by choosing the correct
alternative : - 10x1=10
(a) EPS stands for

(Equity per share / Eamings per share)

(b) Degree of financial lcverage =

EBIT / EPS
EBT / EBIT

(¢c) When dividend is declared it becomes an/a
of the company.
_ (obligation / reputation)

Contd.
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F,

(d) Right shares are issued to e e
(preference shareholders / €quity
shareholders)

(¢) According to MM Theory, the total value of
echetigs ¢ (Static / non-static)

() SEBI stands for ———. (Security
Employment Board of India / Securities and
Exchange Board of India)

(¢) The job of a financial manager covers raising
and utilisation of . (funds / debt)

(h) When the book value of a company is less

‘than the real value, the company is said to
be W
(over capitalised / undercapitalised)

(1)  The effective cost of debentures is
as compared to shares. (more/less)

()  Cost of retained eamnings is the
cost of dividend foregone by the
shareholders. (financial / opportunity)

Answer the Jollowing : 5%2=10

(@) What do you mean by sweat equity shares ?

(b) Mention any two causes of under-capitalisation,

47(4) MNSR 4-4/G 2
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(¢c) What do you mean by operating leverage ? ‘
(d) What do you mean by pre-emptive right ?

(¢)  What do you mean by ,ca;\iital structure ?

3. Answer the following : (any five) 5x4=20

(@ What are the objectives of financial
management ? Explain.

(b) What is over-capitalisation ? What are the
remedies of over—capltahsatxon T

(c) Distinguish between equxty shares and
debentures.

(d) Explain any five factors aﬁ‘ectmg dmdend
dec1snon A

(e) How is the cost of debt calculated 'F

), \(z/A company ﬁsues 210 00,000 10%
redeemable debentures at a discount of
5%. The costs of floatation amount to
¥ 30,000. The debentures are
redeemable aftet 5 yeam, Calculate
after tax cost of debt assummg a tax
rate of 50%.
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(11) The shares of a company are selhng

T 40 per share and it had paid g
PN dividend of ¥ 4 per share last year, Th
i investor’s market expects a growth <
719 of 5% per year. compute the comp '
cost of equity capital.

() Whaf are the components of cost of cap

4.  Answer the following : (any five)

(a) EXplai'n the net income approa‘clih’
determining the capital structure. £
highlight the role of SEBI in issue of cap

(b) Explain any five factors that ‘determine |
capital structure of a company. What are §
limitations of trading on equity ?

(c) What is the argument given in MM appi
of dividend decision ? What do you .
by pnce-eammgs ratio ?

(d) What is finance function? Elabor

discuss the nature and scope of ﬁ a
management.
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(e)

1

(g

Why is preference share known as hybrid
form of security ? Critically examine the
advantages and disadvantages of raising

funds by issuing equity shares. 24343

What are the different types of débentures ?

Also, discuss the earnings thecory of
capitalisation. 5+3

he following information is available in
respect of a firm :
Capitalisation rate = 10% i
Earnings per share = ¥ 50
Assumed rate of return on investment is
(i) 12% (i) 8% (i) 10%
Show the impact bf dividend policy on
market price of shares by applying Walter’s

formula when dividend pay-out ratio is 60%
and 100%. 5+3

A company has equity share capital of
% 5,00,000 divided into shares of ¥ 100 each.
It wishes to raise further ¥ 3,00,000 for
cxpansion. The following options are
available :

(i) all common stock
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(i) € 1,00,000 in common stock and

4 2,00.6w in 10% m £ 3
Lt "‘m .
(iii) dl debuu lm PA o aig

ﬂw)tlm,momqpmmuwkmd |
tZWQOOmmqumm o3

The company’s existing carmny wfm'/
tand tax are X 1,50,000. The corporale




